MA1G1 EXAM 1 Seplember 16, 1998

Name: _S:DIU‘HN K“l ID #:

—

Section # TA’s Name:

Tnstruetions:
1. Fill in your name, stiudent 11D number and division and section number on the mark
somse sheet., Also fill out the information reguested above.

2. This booklet consists of 8 pages. There are 14 gquestions, each worth 7 paints.

4. Mark your answers on the mark-sense sheet with o #2 penal. Please show your work
in this bookbet.

4, No hooks, notes or caleulator may be wsed.

. When yon are finished with the exam, plense hand this booklet and the mark-sense
sheet, in person, to vour instructor.
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1. If |22 — 1] < 2 then
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2. Find an equation for the line through (4, 2) and perpendicalar to the line with equation
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B. y=2
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E. None of the above == :_q_
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3. A hall is thrown straight up from the top of a 120 foot tall building. Tt hits the ground
3 seconds later. What was its initial velocity? (B(t) = —160% + vl + ha).
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4. The graph of the function f(z) - L_il r looks most like
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5. The graph of y + 2 = T looks most like
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G. Let flz) = ~1—| and g(z) = % Find the rule for and the domain of f o g,
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7. A sketch of the graph of y = sin(x /2 — z) looks like
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8. Solve: In(z) + In{z + 5) = In{z?)

A r=005/12
B. r = +/13.1
C.r=0
D.z=0.—3/12

@1‘ = 5/12
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E. MNone of A, B, C or D
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10. Solve the inequality tanx < —1 for x in [0, =,
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here are no solutions
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12. What value of b makes the following function continuous at x = 07
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b forz =0
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A
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E. No value of b makes [ eontinnous at = = (0,

Clealy , £03=b. Hence we want h=£_f;; ) .
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13. Let f{z) = H and g(z) = :E—I_REITT Which one of the following statements is
true? 2
A. Neither f nor g is contimous at £ = —1 -g'(-l:]z E ;"MJE’[’MJ .
B. Both f and g are continuous at x = -1 ,ﬁ(\.‘ ,F 1‘ .;:.ﬁ‘n'HhﬂJj
There he

L. Only [ 8 contineous at 5 = —1

@ Only g s eontinuons at 2 = 1 5—1‘ X= - |
E. The above statements are all false,
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